WP P8 s gpBd 113 828 5 2 29

I3 e 1
FL k% SEp g 2025/2/5
PEGRZT8: 351111 FEEDUME—H
ERER 2i— 2H— 2= FEHA 2R N 2EHiH
5 16 W29A, F:[E e
BEE ()
08:10-09:00 JIERES
55 2 11CO, [f{eTa WC10,530, 5% #E3E |WBSO, jitfhsi W29A, 2 H 11C1, ERk L
B Al E TER(—)_ L ESS B PEEER () By (D) e
09:10-10:00 |H#iREE B4 E = MIFRESHZEE 751408 = SRS E 1309 =
WC11,531 FH[s #E:E
() 2L AT
FEREBIEES I EF
WC12,532, B} #EzE
PEER(Z)_NPLESS
10103 =
WC13,533,F}& #ExE
PEER(C)_TILESS
5078 =
= 36 11CO, [f{eTa WC10,530, 5% #E3E |WBSO, jitfhsi WC14,534 B[ #E:E |11C1, AL
B R E PR HIPEL B B PEEER () EEC)_HILAH [RFhe
10:10-11:00 |k EE BG4S E = MIFRESHZEE 51408 = BARMBLIEESHZEF  |HFH#309% %
WC11,531 FH[s #E:E WC15,535 Ff{[% #EsE
() 2L AT EEC) JBLEFE
FEREBIEES HEF HIFRESHZEE
WC12,532 B H55h WC16,536, %
PEER(Z)_NPLESS () _ANPLESE
10103 = 14053 =
WC13,533 B[ #EE WC17,537 F}% #HE3E
PR _TILESS R T UL
078 = 13018 =
5 Aff 11CO, [fifk# WC10,530,Bf% #EE |WBB8O, &R WC14,534, B[% #E |11C1, #AHL
BB B A B PEER( ) HPLESS B PEEER () EEC)_HILAT [RFhe
11:10-12:00 |#&fkaR B 48 fE = MIFESHEE Bl 75154083 = BAMBLESHEF  |HFH#309% %=

WC11,531 Ff% #E3E
P _ZBE AR
S RIEBLEE 5 =R
WC12,532, % #E3E
Fadhi () NI EIF
18010 =
WC13,533 % #ExE
ERC)_THLES
5075 =

WC15,535 [F[E ExE
(D) LU ETE
BIFEESH=E
WC16,536, 5[ #E:E
(D) _NLETE
TEA05% =
WC17,537,F[& 38
() THLEF
1#301% =




R ZfHHEAE e FpFNR I3 EER ¥ 2 £ T ok 2

L% slecp g 2025/2/5
PEGR-278: 351111 FEE2pufs—H
FEREIR Eff— J==3:1; 2= 2 2R ERN EfH
5 5f] WC10,530, B[ #EE [t ERE WC14,534 F[E #EsE
TER(—)_ L ESS EEC)_HYLART
13:10-14:00 BIFES A EE BRAEBLESH=F
WC11,531 B} #isE WC15,535 Ff{[% #E:E
PR (2 ZBEalerit () JPLEE
BAREBIESH=EF BIFESHEE
WC12,532 B H55h WC16,536, %
Toail () _NHL B SHE()_NHLE
F010% = 14052 =
WC13,533 B[ #EE WC17,537 F}% #HEE
()T UEESS () _THLESS
507 H = 301 =
5 6 WC10,530,50f% #EE |@RckERH WC14,534, B #Exr
Tosi () _HPL B R _FHPLARET
14:10-15:00 fEIFE S A =E FRIEBLAA S =R
WC11,531 [ Heah WC15,535, %
P 2L AT () _ZPLESE
HBAREBIESH=EF BIFESHEE
WC12,532, B[ #E5E WC16,536,F[% #HE3E
() _NPL B HEE () NYLEFE
010 = THA05% %=
WC13,533 F[& #izE WC17,537, F[& #isE
() _TYLESS EE(C)_TYLES
TE507H = 3018 =
5T 11C2, #hmis W341, jeE % WC14,534 B[ H=3E
A R Em e van R _FHPLARET
15:10-16:00 G E e B 7513082 % HAEBLESH=EF
WC15,535,Ff[% #3E
(D) LU ETE
BIFESHEE
WC16,536,F[% 35
HEE () NYLEFE
FEA05Z =
WC17,537, F[& #i:E
EE(C)_TYLES
301 =
55 8Hf 11C2, ks W341, g
B RN Ay
16:10-17:00 G R e 7514308 =
2 Off 11C2, #kmis W341, e
A R Em e van
17:10-18:00 TPk EE B A e ] = B 7513082 %=




Rz ZfHE~F e HpRANIESEER % 2 88 —_— ]
BERCA 8 Alerp g 2025/2/5
PR 2A8: 351111 FEERPURE—H
EEREIR Ef— B EH= EH EHH EHIN EHH

5108 WCO00,082, #5414k | WC02,082, FEah 2 etk WC04,082 #4:fit

e B FRE S B EE | B S IFE S M =EE B FRE S BEE
18:10-18:55
FLLE WCO00,082, #5414k | WC02,082, FEah 2 etk WC04,082 #54:f3t

B B FRE S B EE | B G IFE S M =EE B B FEE S BEE
19:00-19:45
126

19:50-20:35




